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Tukey

5
df MS F
24661.2 1 24661.2 159.6*
45845.2 4 11461.3 74.2*
1780.7 4 445.2 2.9*
44791.7 290 154.5
117064.4 299
* p< .05

F120= 159.6 (p<.05)

FA20= 74.2 (p< .05)

FAZD = 2.9 (p< .05)

Tukey 6



X ow=al
X =

X BU=63
X BK=58
X CP=44

UD > BU > BK > CP
CW UD BU

(p< .05)

BK

Tukey

BU

14.4*
5.9

(p <.05)

BK

BK
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45

BU

37.6*

5.2
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* pc.05

F329 = 419 (p< -05)
3

Tukey

df

28405.7 1
20779.9 3

3144.9 3
38335.2 232
90665.8 239

F323%= 6.3 (p< .05)

MS

28405.7
6926.6
1048.3

165.2

40

171.9*

41.9*

6.3*

F129 = 171.9 (p< .05)



Tukey

X X
BK BU
<) 48

X BK=58 - 9.7*

X BU=48

X =

X Qw=3

*p< b

> QW (p<.09)

16.2*
6.6*
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41

BK> BU> WD
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